MEHEET—% - S0F27

(2]
A e A (k) EREAR (N
PN I % b
1 3 o] T 868. 02| 1 1= ST 43.80| 1 {50 397,406| 1 | PEKEF 1,021
2 Ak i 653. 36| 2 E-1) 61. 48[ 2 Rt 161,515| 2 B2l 1,458
3 B IR T 643.57| 3 = JER AT 85.39 3 jadtng 115,847| 3 HEZERS 2,502
4 IR 562. 95| 4 JIEEHT 90. 13| 4 A i 58,687 4 | L HEMT 3, 385
5 HEZERS 537.29| 5 M 95.19|| 5 A 49,037 5 | A2 3, 485
(R6. 10. 1) (R6. 1. 1)
A A= (%) UNEE-D:AONA )
PN /I % b
1 At A 0.06 1| PEKREA A 4.85( 1 {50 623.6( 1 | FEEREA 3.7
2 = emy A 0.44| 2 | T HEWT A 3.37 2 ISELI 454.8| 2 HEZEFRT 4.7
3 B IR T A 0.54| 3 SEpmY A 3.35( 3 BrEmy 269.4| 3 FEGAT 7.9
4 RN A 0.85| 4 HEZERS A 3.25 4 i 245.9| 4 ES/ 4 10.8
5 BrE T A 1.01| 5| Bz A 2.98] 5 =T 232.6| 5 | AHZ#E 13.1
(¥ ARG, 1. 1/R5. 1. 1) (R2. 10. 1[EFH A A /R6. 10. 152 AL
Ziln A REIE (%) BF4E12 26 HBIT  E IR RSB TR (%)
= {iS = iy
1 By 52.1| 1 = my 28.3[ 1 B2 40 87.53| 1 Bt 52. 58
2 | HZEHT 48. 4| 2 BT 29.1 2 | WEKREFK 87. 44| 2 =T 54. 42
3 SEERT 47.3( 3 EAis A 2.1 3 | AZE 78.63| 3 S i 7 54. 82
4 HEFTEFRT 46.2| 3 P 1u) 32.1| 4 HEFEFRT 77.85| 4 AN NI 55. 22
5| 200 44.9| 5 A [ 33.5( 5 SLARET 76.92| 5 B IR 55.73
(R6. 1. L{EFA M)
TRT A AR ZEPE (B 5 1) BLEEINY T2 0 RARE (FH/AN)
% 2 % b
1 B IR T 1,377,031| 1 R 6,736 1 | TEAKEA 12,395 1 =y 4,102
2 EaS ) 641,517| 2 | PEKEFF 7,822| 2 IR T 7,828 2 F 9105 4, 356
3 S 452, 463| 3 HEZERS 10, 925|( 3 HEZERS 7,694| 3 FJ1 my 4, 476
4 NG 227,083| 4 | I HENT 11,619 4 S [idl T 7,634 4 | @ TREET 4, 495
5 H e 152,183| 5 | HZHT 11,672 5 FEGR 7,394 5 | HZigHT 5, 429
(R4. 3. 31) (R4. 3. 31)
(€%E3)
T ARA L AR <A FUN—=— R R (%)
5] {lis ] S
1 H 99.7( 1 E2- 91.5| 1 By 89. 7%| 1 b 78. 1%
2 SN T 99.3 2 | PEAKEA 92.3| 2 B2 88. 1%| 2 FEHT 79. 0%
3 NG 99.3| 3 Ei=1ill 93.2| 3 E S 86. 4%| 3 JIEgHT 79. 2%
4 sk 98.8| 4 HEZERS 94.7| 4 e J AT 85.5%| 4 ESf=4) 79. 3%
5 | Foo WHAT 98.7| 5 ey 94.9( 5 =% 85.4%| 5 | OO 79. 9%

(R6.4.1)

(R6.12HKH)




(EESF

BLERA DEIE (%)

1R F2W #3W
1 FEBAT 40.9|| 1 FH 1T 32.5| 1 I 79.5
2 FHBHT 38.2| 2 A i 29.0 2 =T 68. 2
3| T ENT 35.6[ 3 S [ 7 28.4( 3 A rg i 68.0
4 HEZERS 33.1] 4 T 24. 8| 4 ISELI 67.9
5| Az 31.0| 5 Hisiti 23.8| 5 At 67.6
(R2. 10. 1[EFH)
[ - T3 - p5¥])

-3 LS H - /hFEE

W ERZE ) T T

1 At 5, 460] 1 I T 367 1 I 3,794
2 BT 4,125| 2 Al it 280|| 2 Rt 1,773
3 NN 2,728( 3 3 [ 717 194 3 S [id] T 1, 262
4 SE i 1,979 4 A il 107)| 4 ENEh 749
5 200 1,682| 5 ERE:IT 104 5 ENhH 549

(R2. 2. 1Ak P %)

(R5. 6. 1% 75 F2HEFHAL)

(R3. 6. 1% #FE - R)

[ sk ki ]
M A8 FEAE R (km) A1 A7 0 4 S A & (k1/A)

R B % b
1 Byt 3,159.7| 1 | PEKEFF 113.8| 1 ENhH 0.438| 1 HELERS 0. 153
2 {50 2, 656. 8| 2 FeJ Iy 167.6 ) HR T 0.435( 2 ST 0.157
3 SN 1,447.0| 3 ARy 173.5 ESl=) 0.435| 3 | s WEET 0.191
4 IR 937.2( 4 | iy HENT 181.4{ 4 i 0.428| 4 | HzgHr 0.195
5 HEgrh 724.2| 5 HEhT 188.2[ 5 SiE [i] 17 0.360[ 5 B4 0.210
(R5. 4. 1) (R6. 3. 31)
[J#iE]

MBOIHEE RN S b =R (%)

& {iS & {lis
1 AT 0.783| 1 | PEKEAF 0.138 1 S 96.9 1 | PEEKEA 78.2
2 IR T 0.692| 2 | i HHMT 0.145 2 | VDT 96.5| 2 G 78.5
3 H i 0.552| 3 | HBZENT 0.168| 3 | @& TREMT 96.2( 3 A ET 81.2
4 Ay 0.544| 4 MEZERS 0.171 A ki 95.9| 4 HESERS 82. 1
5 S [ 0.515| 5 e/ 0.186 A I T 95.9| 5 Eid) 82.8
(R6. 3. 31) (R6. 3. 31)

FENEH (%) AT A BIRI R (%)

] {lis & lis
1 N NI 12.8| 1 [EE<k 2.8 . Eda 100.0| 1 T 98.1
2 ESk=4u) 11.3| 2 AL My 3.1 HESERT 100. 0| 2 BRI 98.5
5 NG 10.9] 3 | 2O 4.2 3 AIRHT 99.9| 3 fEmT 98.8

ISE LI 10.9| 4 EGRT 5.3 4 et 99.8 A F )1 BT 98.9

5 HEZERS 10.1| 5 Byt 57| 5| PEKEK 99.7 2 Ooifi 98.9
(R6. 3. 31) (R6. 3. 31)




